

## Quote

Date: 5/22/24

## **US CONCRETE AND PAVING INC.**

26032 Ridge Manor Drive Damascus, Maryland 20872

TELEPPHONE: 301-414.0020 FAX: 301-414.0021

Attn:	
Alsinia E	Ervin
Proiect	Managei

Customer: Town of Vienna 127 Center Street Vienna, VA

Job	Quotation Prepared by:	<b>Payment Terms</b>	Date
	Celio Guzman	30 NET	

Qty	Description	Unit Price	TOTAL
1	Frederick St SW - Sidewalk Robinson Trust Fund. ( Revised )	\$206,113.00	\$206,113.00
		Subtotal	
		Sales Tax Included	
		TOTAL	\$206,113.00

This is a quotation for listed and detailed services, subject to	the conditions noted herein. Excluded are:
To accept this quotation, sign here and return:	Date

## IFB-23-33 Town Of Vienna on Call Small Task Concrete Maintenance

Contractor: US Concrete and Paving, Inc.\_\_\_\_\_

## **Cost Estimate For Task Order Number:**

**Project Name: Frederick ST SW RTF Sidewalk** 

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
1	REMOVE AND DISPOSE OF CONCRETE DRIVEWAY APRON		SY	5.00	\$0.00
2	REMOVE AND DISPOSE OF CONCRETE SIDEWALK		SY	4.00	\$0.00
3	REMOVE AND DISPOSE OF CURB AND/OR CURB AND GUTTER	125.00	LF	3.00	\$375.00
4	REMOVE AND DISPOSE OF BRICK AND OR/CONCRETE PAVERS		SY	3.00	\$0.00
5	SAWCUT ASPHALT PAVEMENT (1" – 4" DEPTH)	125.00	LF	1.50	\$187.50
6	SAWCUT CONCRETE CURB AND GUTTER AND ENTRANCES	40.00	LF	1.50	\$60.00
7	SAWCUT SIDEWALK		LF	1.50	\$0.00
8	REGULAR EXCAVATION – REMOVE AND DISPOSE	573.00	CY	75.00	\$42,975.00
9	INSTALL AND REMOVE SILT FENCE		LF	1.50	\$0.00
10	TEMPORARY SAFETY FENCE AND TREE PROTECTION		LF	5.00	\$0.00
11	CL-III RCP, 15" DIAMETER		LF	125.00	\$0.00

12	CL-III RCP, 18" DIAMETER		LF	125.00	\$0.00
13	CL-III RCP, 21" DIAMETER		LF	125.00	\$0.00
14	CL-III RCP, 24" DIAMETER		LF	125.00	\$0.00
15	CL-IV RCP, 15" DIIAMTER		LF	125.00	\$0.00
16	ES-1, END SECTION, 15" PIPE		EA	900.00	\$0.00
17	ES-1, END SECTION, 18" PIPE		EA	900.00	\$0.00
18	ES-1, END SECTION, 21" PIPE		EA	1,000.00	\$0.00
19	ES-1, END SECTION, 24" PIPE		EA	1,000.00	\$0.00
20	12 " HDPP (polypropylene)		LF	90.00	\$0.00
21	15" HDPP		LF	120.00	\$0.00
22	18" HDPP		LF	120.00	\$0.00
23	12" HDPE (polyethylene)		LF	90.00	\$0.00
24	15" HDPE		LF	90.00	\$0.00
25	INSTALL CURB INLET (ARLINGTON COUNTY CB2 OR EQUAL UP TO 8' DEEP & INCLUDES INLET TOP)		EA	5,000.00	\$0.00
26	REPLACE REINFORCED CONCRETE INLET TOP	5.00	SY	550.00	\$2,750.00
27	VDOT STANDARD UD-4 EDGE DRAIN (4")		LF	10.00	\$0.00
28	GEOTEXTILE DRAINAGE FABRIC		SY	4.00	\$0.00

29	ADJUST WATER METER BOX TO GRADE	6.00	EA	125.00	\$750.00
30	RELOCATE WATER METER BOX	5.00	EA	950.00	\$4,750.00
31	21-A STONE	186.00	TON	50.00	\$9,300.00
32	21-B STONE		TON	50.00	\$0.00
33	VDOT STANDARD #57 STONE		CY	50.00	\$0.00
34	CURB OR CURB AND GUTTER (CG-2, CG-3, CG- 6, OR CG-7)	125.00	LF	50.00	\$6,250.00
35	STANDARD 6" CONCRETE DRIVEWAY ENTRANCE	172.00	SY	80.00	\$13,760.00
36	DRIVEWAY RESTORATION - Asphalt	90.00	SY	90.00	\$8,100.00
37	4" BRICK SIDEWALK PAVERS, INSTALLATION		SY	180.00	\$0.00
38	4" CONCRETE SIDEWALK	667.00	SY	80.00	\$53,360.00
39	6" CONCRETE PAD		SY	60.00	\$0.00
40	DETECTABLE WARNING	50.00	SF	125.00	\$6,250.00
41	ASPHALT TYPE BM-25, A THRU D	30.00	TON	80.00	\$2,400.00
42	ASPHALT TYPE SM-9.5, A THRU D	30.00	TON	95.00	\$2,850.00
43	SEEDING TO INCLUDE LIME, FERTILIZER, AND MULCH		SY	5.00	\$0.00
44	SODDING (TO INCLUDE 2" TOPSOIL AND FERTILIZATION)	940.00	SY	10.00	\$9,400.00
45	TOPSOIL (2" DEPTH)		SY	5.00	\$0.00

TACK AS SEAM  46 SEALING TO PAVEMENT PATCHES (MIN 4 INCHES WIDE)  47 UTILITY TEST PIT  EA 1,050.00 \$0.0  48 YARD INLET (UP TO 4' deep)  49 6" PVC SCHEDULE 40  LF 25.00 \$0.0  4 'DIA PRECAST MANHOLE; UP TO 4' DEEP  51 4' DIA PRECAST MANHOLE (4' TO 8' DEEP)  EA 5,000.00 \$0.0  STANDARD CURB DROP INLET 12" TO 30" PIPE (DI- 3)  TREE REMOVAL 6" TO 18" 51 DIA AND GRIND STUMP BELOW GRADE  TREE REMOVAL OVER 18" 54 DIA AND GRIND STUMP BELOW GRADE  55 ADJUST GAS VALVES  EA 1,500.00 \$0.0  SO.0		ADDIVATEOUS AL MANIGHTE : SUIVE	1			
46   SEALING TO PAVEMENT   LF   10.00   \$0.00   \$0.00     47   UTILITY TEST PIT		APPLY NTCQS-1hM NONTRACKING				
PATCHES (MIN 4 INCHES WIDE)  47 UTILITY TEST PIT	46			l F	10.00	\$0.00
### WIDE)  ### UTILITY TEST PIT  ### 24" x 24" CAST-IN-PLACE   YARD INLET (ID TO 4"   EA   3,500.00   \$0.00	40			LI	10.00	Ş0.00
24" x 24" CAST-IN-PLACE   YARD INLET (UP TO 4'   deep)						
24" x 24" CAST-IN-PLACE   YARD INLET (UP TO 4'   deep)		,				
48       YARD INLET (UP TO 4' deep)       EA       3,500.00       \$0.00         49       6" PVC SCHEDULE 40       LF       25.00       \$0.00         4" DIA PRECAST       EA       4,000.00       \$0.00         50       MANHOLE; UP TO 4 'DEEP       EA       4,000.00       \$0.00         51       4" DIA PRECAST MANHOLE (4" TO 8" DEEP)       EA       5,000.00       \$0.00         52       INLET 12" TO 30" PIPE (DI-33)       EA       5,000.00       \$0.00         53       DIA AND GRIND STUMP       8.00       EA       1,100.00       \$8,800.00         53       DIA AND GRIND STUMP       EA       1,500.00       \$0.00         54       DIA AND GRIND STUMP       EA       1,500.00       \$0.00         55       ADJUST GAS VALVES       EA       1,500.00       \$0.00         56       ADJUST MANHOLE FRAME AND COVER       EA       350.00       \$0.00         57       REPLACE REINFORCED CONCRETE WALL       SY       495.00       \$0.00         NIC       Remove and Dispose Asphalt Driveway       90.00       SY       875.00       \$787.50         NIC       Remove and Dispose of Reinforce Concrete       134.00       SY       12.00       \$1.60.60 <td>47</td> <td>UTILITY TEST PIT</td> <td></td> <td>EA</td> <td>1,050.00</td> <td>\$0.00</td>	47	UTILITY TEST PIT		EA	1,050.00	\$0.00
deep)						
49 6" PVC SCHEDULE 40  LF 25.00 \$0.0  4 'DIA PRECAST 50 MANHOLE; UP TO 4 ' DEEP  51 4' DIA PRECAST MANHOLE (4' TO 8' DEEP)  STANDARD CURB DROP 52 INLET 12" TO 30" PIPE (DI- 3)  TREE REMOVAL 6" TO 18" 53 DIA AND GRIND STUMP BELOW GRADE  TREE REMOVAL OVER 18" 54 DIA AND GRIND STUMP BELOW GRADE  55 ADJUST GAS VALVES  ADJUST MANHOLE FRAME AND COVER  57 REPLACE REINFORCED CONCRETE WALL  NIC Remove and Dispose Asphalt Driveway  S1 ADD SV 12.00 \$16.00 \$1.00 \$	48	· · · · · · · · · · · · · · · · · · ·		EA	3,500.00	\$0.00
A' DIA PRECAST   EA   4,000.00   \$0.00		deep)				
SO	49	6" PVC SCHEDULE 40		LF	25.00	\$0.00
DEEP		4' DIA PRECAST				
51       4' DIA PRECAST MANHOLE (4' TO 8' DEEP)       EA       5,000.00       \$0.0         52       STANDARD CURB DROP INLET 12" TO 30" PIPE (DI-33)       EA       5,000.00       \$0.0         53       TREE REMOVAL 6" TO 18"       8.00       EA       1,100.00       \$8,800.0         53       DIA AND GRIND STUMP BELOW GRADE       EA       1,500.00       \$0.0         54       DIA AND GRIND STUMP BELOW GRADE       EA       1,500.00       \$0.0         55       ADJUST GAS VALVES       EA       100.00       \$0.0         56       ADJUST MANHOLE FRAME AND COVER       EA       350.00       \$0.0         57       REPLACE REINFORCED CONCRETE WALL       SY       495.00       \$0.0         NIC       Remove and Dispose Asphalt Driveway       90.00       SY       875.00       \$787.5         NIC       Remove and Dispose of Reinforce Concrete       134.00       SY       12.00       \$1608.6	50			EA	4,000.00	\$0.00
STANDARD CURB DROP   EA		DEEP				
(4'TO 8' DEEP)	E1	4' DIA PRECAST MANHOLE		EΛ	5 000 00	¢n nn
52       INLET 12" TO 30" PIPE (DI-3)       EA       5,000.00       \$0.0         3)       TREE REMOVAL 6" TO 18"       8.00       EA       1,100.00       \$8,800.0         53       DIA AND GRIND STUMP BELOW GRADE       EA       1,100.00       \$8,800.0         54       DIA AND GRIND STUMP BELOW GRADE       EA       1,500.00       \$0.0         55       ADJUST GAS VALVES       EA       100.00       \$0.0         56       ADJUST MANHOLE FRAME AND COVER       EA       350.00       \$0.0         57       REPLACE REINFORCED CONCRETE WALL       SY       495.00       \$0.0         NIC       Remove Shrubs       62.00       EA       85.00       \$5,270.0         NIC       Remove and Dispose Asphalt Driveway       90.00       SY       875.00       \$787.5         NIC       Remove and Dispose of Reinforce Concrete       134.00       SY       12.00       \$1.608.0	31	(4' TO 8' DEEP)		LA	3,000.00	٥٠.٥٥
3)   TREE REMOVAL 6" TO 18"   8.00   EA		STANDARD CURB DROP				
TREE REMOVAL 6" TO 18"         8.00         EA         1,100.00         \$8,800.00           53 DIA AND GRIND STUMP BELOW GRADE         8.00         EA         1,100.00         \$8,800.00           54 DIA AND GRIND STUMP BELOW GRADE         EA         1,500.00         \$0.00           55 ADJUST GAS VALVES         EA         100.00         \$0.00           56 ADJUST MANHOLE FRAME AND COVER         EA         350.00         \$0.00           57 REPLACE REINFORCED CONCRETE WALL         SY         495.00         \$0.00           NIC Remove Shrubs         62.00         EA         85.00         \$5,270.00           NIC Remove and Dispose Asphalt Driveway         90.00         SY         875.00         \$1608.00           NIC Remove and Dispose of Reinforce Concrete         134.00         SY         12.00         \$1.608.00	52	INLET 12" TO 30" PIPE (DI-		EA	5,000.00	\$0.00
53         DIA AND GRIND STUMP BELOW GRADE         8.00         EA         1,100.00         \$8,800.00           TREE REMOVAL OVER 18"         EA         1,500.00         \$0.00           54         DIA AND GRIND STUMP BELOW GRADE         EA         1,500.00         \$0.00           55         ADJUST GAS VALVES         EA         100.00         \$0.00           56         ADJUST MANHOLE FRAME AND COVER         EA         350.00         \$0.00           57         REPLACE REINFORCED CONCRETE WALL         SY         495.00         \$0.00           NIC         Remove Shrubs         62.00         EA         85.00         \$5,270.00           NIC         Remove and Dispose Asphalt Driveway         90.00         SY         875.00         \$1608.00           NIC         Remove and Dispose of Reinforce Concrete         134.00         SY         12.00         \$1.608.00		·				
BELOW GRADE   TREE REMOVAL OVER 18"						4
54         TREE REMOVAL OVER 18"         EA         1,500.00         \$0.0           54         DIA AND GRIND STUMP BELOW GRADE         EA         1,500.00         \$0.0           55         ADJUST GAS VALVES         EA         100.00         \$0.0           56         ADJUST MANHOLE FRAME AND COVER         EA         350.00         \$0.0           57         REPLACE REINFORCED CONCRETE WALL         SY         495.00         \$0.0           NIC         Remove Shrubs         62.00         EA         85.00         \$5,270.0           NIC         Remove and Dispose Asphalt Driveway         90.00         SY         875.00         \$787.5           NIC         Remove and Dispose of Reinforce Concrete         134.00         SY         12.00         \$1.608.0	53		8.00	EA	1,100.00	\$8,800.00
54         DIA AND GRIND STUMP BELOW GRADE         EA         1,500.00         \$0.0           55         ADJUST GAS VALVES         EA         100.00         \$0.0           56         ADJUST MANHOLE FRAME AND COVER         EA         350.00         \$0.0           57         REPLACE REINFORCED CONCRETE WALL         SY         495.00         \$0.0           NIC         Remove Shrubs         62.00         EA         85.00         \$5,270.0           NIC         Remove and Dispose Asphalt Driveway         90.00         SY         875.00         \$787.5           NIC         Remove and Dispose of Reinforce Concrete         134.00         SY         12.00         \$1.608.0						
BELOW GRADE         EA         100.00         \$0.0           55         ADJUST GAS VALVES         EA         100.00         \$0.0           56         ADJUST MANHOLE FRAME AND COVER         EA         350.00         \$0.0           57         REPLACE REINFORCED CONCRETE WALL         SY         495.00         \$0.0           NIC         Remove Shrubs         62.00         EA         85.00         \$5,270.0           NIC         Remove and Dispose Asphalt Driveway         90.00         SY         875.00         \$787.5           NIC         Remove and Dispose of Reinforce Concrete         134.00         SY         12.00         \$1.608.0	54			FΔ	1 500 00	\$0.00
ADJUST MANHOLE FRAME AND COVER  57 REPLACE REINFORCED CONCRETE WALL  NIC Remove Shrubs  62.00 EA  85.00 \$5,270.00  NIC Remove and Dispose Asphalt Driveway  90.00 SY  875.00 \$1608.00				271	1,500.00	φ0.00
ADJUST MANHOLE FRAME AND COVER  57 REPLACE REINFORCED CONCRETE WALL  NIC Remove Shrubs  62.00 EA  85.00 \$5,270.00  NIC Remove and Dispose Asphalt Driveway  90.00 SY  875.00 \$1608.00						
AND COVER  57 REPLACE REINFORCED CONCRETE WALL  NIC Remove Shrubs  62.00 EA  85.00 \$5,270.00  NIC Remove and Dispose Asphalt Driveway  90.00 SY  875.00 \$1608.00	55	ADJUST GAS VALVES		EA	100.00	\$0.00
AND COVER  57 REPLACE REINFORCED CONCRETE WALL  NIC Remove Shrubs  62.00 EA  85.00 \$5,270.00  NIC Remove and Dispose Asphalt Driveway  90.00 SY  875.00 \$1608.00		ADILIST MANHOLE EDAME				
57 REPLACE REINFORCED CONCRETE WALL  NIC Remove Shrubs  62.00 EA  85.00 \$5,270.00  NIC Remove and Dispose Asphalt Driveway  90.00 SY  875.00 \$787.50	56			EA	350.00	\$0.00
NIC Remove Shrubs  62.00 EA 85.00 \$5,270.0  NIC Remove and Dispose Asphalt Driveway  90.00 SY 875.00 \$787.5		7.11.5 00 12.11				
NIC Remove Shrubs  62.00 EA 85.00 \$5,270.00  NIC Remove and Dispose Asphalt Driveway  90.00 SY 875.00 \$787.50  NIC Remove and Dispose of Reinforce Concrete  134.00 SY 12.00 \$1.608.00	E 7	DEDI ACE DEINICORCED CONCRETE MALL		cv	405.00	¢0.00
NIC Remove and Dispose Asphalt Driveway 90.00 SY 875.00 \$787.5	37	REFLACE REINFORCED CONCRETE WALL		31	493.00	٥٥.٥٥
NIC Remove and Dispose Asphalt Driveway 90.00 SY 875.00 \$787.5						
Remove and Dispose of Reinforce Concrete  134.00 SY 12.00 \$1.608.0	NIC	Remove Shrubs	62.00	EA	85.00	\$5,270.00
Remove and Dispose of Reinforce Concrete  134.00 SY 12.00 \$1.608.0						
1 NIC 1	NIC	Remove and Dispose Asphalt Driveway	90.00	SY	875.00	\$787.50
1 NIC 1						
1 NIC 1		Remove and Dispose of Reinforce Concrete				,
1 1 1 1	NIC		134.00	SY	12.00	\$1,608.00
			<u> </u>			
NIC Replace Reinforce 6" Concrete Driveway 134.00 SY 195.00 \$26,130.0	NIC	Replace Reinforce 6" Concrete Driveway	134.00	SY	195.00	\$26,130.00
	L					,

		 \$0.00
		\$0.00
		\$0.00
		\$0.00
		\$0.00
		\$0.00
		\$0.00
		\$0.00
TOTAL BID		\$206,113.00